=> restart

> f=exp(2-t)
! f=¢' )
> plot(f,t=-2.2,y=0..60)
60
50 A
40
y 30 A
20
10
—‘2 —‘l 0 i é
t
(> =2
| L:=2 Q?)
> a[0] = %-int(f,tZ—L..L);evalf(%, 3)
a, _—%6_44-— ¢!
i 13.6 (&)
> a[n] = %.im‘(f-cos( n'ilit ),tZ—L..L)
¢! sin(nm) Tn et sin(nn) Tn+4 e4cos(n ) —4¢7 cos(n ) @
a =
" wn’+16

> b[n] == %.int(f-sin( ”'E” ) t=—L..L)




p ~¢*cos(nm) mn+e *cos(nm) mn+4c sin(nn) +4¢ *sin(nn) 5)

" Tt +16

> STF = +Sum(a n] ( nPit ) +b[n]-sin( n'Ert ),n=1..inﬁnily)

sm:-% 4y ée“ + > (6)

n=1

(*sin(nm) mn+e*sin(nn) mn+4c cos(nm) —4e*cos(nm)) cos(% nnt)

2
T n2+16

+ ;((—e%os(n n)wn+e ‘cos(nm) mn+4¢e sin(nn)

2
T n’+16

+4¢*sin(nm)) sin(% nrct))j

> STF500 := % +sum(a[n]-cos( ”'LP” ) —I—b[n]-sin( ”'E” ),n=1..500) :

(> plot(f,t=-2..2,y=0..60)
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> plot(STF500, t=-2.2,y=0..60)
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(> plot({ £, STF500}, t=-2.2,y=0..60)
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[ > plot({ £, STF500}, t=-0.02..0.02)
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;> restart

> g :=-Heaviside(z +2) + 2-Heaviside(#) — Heaviside(¢ —2)

i g = -Heaviside(t +2) + 2 Heaviside(#) — Heaviside(? —2)
> plot(g,t=-3.3,y=-2.2)

)



y 1
-‘3 -2 -‘1 0 i 2 ?;
t
_27
> L:=3
L:=3 ®
> a[0] = %~int(g,t=—3..3)
a,:=0 )
N ) n-Pi-t _
> a[n] = I mt(g cos( I ),t 3..3)
a,=0 10)
_ 1. [ nPi-t _
> b[n] = I mt(g sm( I ),t 3..3)
2cos(§nn) )
b,:=- + an
nt ntw

> STF = Sum(b[n]-sin( niil‘t ),n=l..inﬁnily)

(12)



2005( nn)
STF:— 3 + 2 sin(1 nnt)
nT nm 3

> STF500 —sum(b[n] s1n( n ) n=1. 500)

> plot(STF500,t=-3.3,y=
2,

> plot(STF500,t=-2.5..-1.5,y=-1.1..0.1, scaling= CONSTRAINED)

12)



! 1 AV j T " T " O
-24 -2.2 2 -1.8 -1.6
4
-0.2
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y
-0.6
-0.8

;> restart
> ff==-(t+2)-Heaviside(t +2) +2- (¢t + 1) -Heaviside(t +1) —2-(¢ — 1) -Heaviside(t — 1)
+ (t —2)-Heaviside(t — 2) : plot( ff, t =-3..3, scaling = CONSTRAINED )




0.8 |
02 ]
3 -2 1 -of] I 2
j t
-0.6 1
_17
_> L:=2
i L:=2
> a[0] == %-int(jft;L..L)
a, =0
> a[n] = %-mt(ﬁ-cos(%),t:wl)
a,=0
> b[n] = %-int(ff'sin( ”'E” ),t=—L..L)
-8sin(nm) +16 sin(%nn)
bn :=3 ) 2

n T

> STF500 = sum(b[n]-sin( ”'El" ),n=1..500) :
B plot(STF500, t=0..L, scaling= CONSTRAINED)

13)

(14)

15)

(16)
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> gg = (t+2)-Heaviside(t +2)-2-(¢t+ 1) -Heaviside(z + 1) + 2 ¢-Heaviside(¢) -2- (¢ — 1)
‘Heaviside(t — 1) + (¢t —2)-Heaviside(¢ — 2) : plot(gg, t =-3 ..3, scaling
= CONSTRAINED)




> aal[0] = %'int(gg, t=-L.L)

aa, = 1

> aal[n] = %-int(gg-cos( n'El.t ), t=—L..L)

. 16cos(%nn)—8cos(nn)—8
aa. = —
n 2 nznz
[ N . ( n-Pi-t _
> bb[n] = 7 mt(gg sm( 7 ),t L..L)
i bbn =0
> STFG500 = %[O] +sum(aa[n]-cos( n-Pis ),n=1..500) :

[> plot(STFG500, t =0 ..L, scaling= CONSTRAINED)

a7y

(18)

19)
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> plot(STF500,t=0..L, scaling= CONSTRAINED)
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